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logVo=logV + 0,03 logLo=—0,35u)\~Us7q
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logL =(log,+log )/2 log~=-0,35u)\-u ]
logL, =logL + 0,35 log =-0,35u,-u ]
log [Lo, L, o, Adaptation: A~ =570

logarithm. L , L,-Daten uy=(\ — 550) / 502
logL =(log+log )/2 log:=-0,35u)\-u ]2
logLo, =logL + 0,35 log  =-0,35u,-u ]
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log . =(log = +logMg)/2log = = —0,35\-u ] =(log - +logMg)/2log  =-0,35u)-u ]
log -, =log" + 0,35 logMq = -0,35)~Us7q =log +0,35 logMq = —0,35u)~Us7q
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log  =(log +log©.)/2log =-0,35u\—u ] =(log +logC.)/2log =-0,35u)\-u ]2
log =log +0,35 log -0,35u,—u ] =log +0,35 log©-.=-0,35u\—u- ]
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